Math 490 Quiz #9 Solutions Tuesday 23 November 2021

Name: Score (Out of 6 points):

1. (6 points) State whether each of the following functions is continuous and/or open by circling
“Continuous” and/or “Open”. No justifcation necessary.

f i (R, cofinite) — (R, Euclidean)

f(:U) — Continuous

g : (R, discrete) — (R, Euclidean) _
open

g(x) =z

k : (R,indiscrete) — (R, Euclidean)

k(x) — Continuous

Let X =R and 7 ={(a,0) | a € R} U{R} U{@}.

Continuous Open
h:(R,T)— (R, cofinite)
h(z)=x

Let X,Y be any topological spaces, and endow X xY
with the product topology. Let mx be the projection

map

x X xY > X

WX(x,y) =

Let X ={a,b,c,d} and
Open
7 ={o. (0.0}, {c} {a.b,ch. {a.b, e d} }.

F : (R,Euclidean) — (X, 7T)

a, x € (0,1]

b, x € (1,00)
¢, v € (—00,0)
d, x =0.

F(x) =
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